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NEW QUESTION 1

A wireless engineer must implement a corporate wireless network for a large company in the most efficient way possible. The wireless network must support 32

VLANSs for 300 employees in different departments. Which solution must the engineer choose?

A. Configure a second WLC to support half of the APs in the deployment.

B. Configure one single SSID and implement Cisco ISE for VLAN assignment according to different user roles.
C. Configure different AP groups to support different VLANS, so that all of the WLANs can be broadcast on both radios.
D. Configure 16 WLANS to be broadcast on the 2.4-GHz band and 16 WLANSs to be broadcast on the 5.0-GHz band.

Answer: B

NEW QUESTION 2

Which two restrictions are in place with regards to configuring mDNS? (Choose two.)

A. mDNS uses only UDP port 5436 as a destination port.

B. MDNS cannot use UDP port 5353 as the destination port.
C. mDNS is not supported on FlexConnect APs with a locally switched WLAN.

D. Controller software must be newer than 7.0.6+.
E. mDNS is not supported over IPv6.

Answer: CD

NEW QUESTION 3

Which feature on the Cisco Wireless LAN Controller must be present to support dynamic VLAN mapping?

A. FlexConnect ACL

B. VLAN name override
C. CCKM/OKC

D. AAA override

Answer: D

NEW QUESTION 4
Refer to the exhibit.

802.11a(5 GHz) > Media
Voice | Video | Media |

Call Admission Control (CAC)

Admission Control (ACM) 7| Enabled
CAC Method 4 Load Based ~
Max RF Bandwidth (5-85) (%) 75

Reserved Roaming Bandwidth (0-25) (%) |6

Expedited bandwidth [

SIP CAC Support 3 "] Enabled
Per-Call SIP Bandwidth 2

SIP Codec G.7T11 -
SIP Bandwidth (kbps) (64 |

SIP Voice Sample Interval (msecs) (20«

Which two items must be supported on the VOWLAN phones to take full advantage of this WLAN configuration? (Choose two.)

A. TSPEC
B. SIFS

C. 802.11e
D. WMM
E. APSD

Answer: CD

NEW QUESTION 5
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A new MSE with wilPS service has been installed and no alarm information appears to be reaching the MSE from controllers. Which protocol must be allowed to
reach the MSE from the controllers?

A. SOAP/XML
B. NMSP

C. CAPWAP
D. SNMP

Answer: A

NEW QUESTION 6
All APs are receiving multicast traffic, instead of only the APs that need it. What is the cause of this problem?

A. The multicast group includes all APs

B. The wrong multicast address was used

C. The multicast group is assigned the wrong VLAN
D. Multicast IGMP snooping is not enabled

Answer: D

NEW QUESTION 7
A network engineer observes a spike in controller CPU overhead and overall network utilization after multicast is enabled on a controller with 500 APs. Which
feature connects the issue?

A. controller IGMP snooping

B. multicast AP multicast mode
C. broadcast forwarding

D. unicast AP multicast mode

Answer: B

NEW QUESTION 8
What is the default IEEE 802.1x AP authentication configuration on a Cisco Catalyst 9800 Series Wireless Controller?

A. EAP-PEAP with 802.1x port authentication

B. EAP-TLS with 802.1x port authentication

C. EAP-FAST with CAPWAP DTLS + port authentication
D. EAP-FAST with CAPWAP DTLS

Answer: C

NEW QUESTION 9
An engineer is implementing a FlexConnect group for access points at a remote location using local switching but central DHCP. Which client feature becomes
available only if this configuration is changed?

A. multicast

B. static IP

C. fast roaming
D. mDNS

Answer: B

NEW QUESTION 10

What is the default NMSP echo interval between Cisco MSE and a Wireless LAN Controller?

A. 10 seconds

B. 15 seconds

C. 30 seconds

D. 60 seconds

Answer: B

Explanation:

Reference: https://www.cisco.com/en/US/docs/wireless/mse/3350/6.0/CAS/configuration/guide/msecg_ch4_CAS.html
NEW QUESTION 10

When implementing self-registration for guest/BYOD devices, what happens when an employee tries to connect four devices to the network at the same time?
A. The last device is removed and the newly added device is updated as active device.

B. The registration is allowed, but only one device is connected at any given time.

C. All devices are allowed on the network simultaneously.

D. Purge time dictates how long a device is registered to the portal.

Answer: B

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



@ 2passeasy

Welcome to download the Newest 2passeasy 300-430 dumps
https://lwww.2passeasy.com/dumps/300-430/ (159 New Questions)

NEW QUESTION 15
Refer to the exhibit.

No. | Time Source Destination Protocol | Length | Info
21 0.003747 10.48.39.251 10.48.71.21 UDP 146 | 9999 = 2003 Len=104
3| 1.087479 10.48.39.214 10.48.71.21 UDP 130 | 9999 = 2003 Len=88
4| 2.733577 10.48.39.214 10.48.71.21 UDP 130 | 9999 = 2003 Len=88
5 | 2.999859 10.48.39.251 10.48.71.21 UDP 178 | 9999 = 2003 Len=136
6| 3.001227 10.48.39.251 10.48.71.21 UDP 162 | 9999 = 2003 Len=120
7| 4.355249 10.48.39.214 10.48.71.21 UDP 146 | 9999 = 2003 Len=104
8 | 5.999538 10.48.39.251 10.48.71.21 UDP 178 | 9999 = 2003 Len=136
9 | 6.000959 10.48.39.251 10.48.71.21 UDP 146 | 9999 = 2003 Len=104
10 | 8.999418 10.48.39.251 10.48.71.21 UDP 146 | 9999 > 2003 Len=104
11 | 9.000791 10.48.39.251 10.48.71.21 UDP 178 | 9999 => 2003 Len=136
12 | 9.262904 10.48.39.214 10.48.71.21 UDP 146 | 9999 =< 2003 Len=104
13 | 10.894785 10.48.39.214 10.48.71.21 UDP 130 | 9999 = 2003 Len=88
14 | 11.995126 10.48.39.251 10.48.71.21 UDP 194 | 9999 = 2003 Len=152
15| 11.999193 10.48.39.251 10.48.71.21 UDP 162 | 9999 = 2003 Len=120
16 | 14.994902 10.48.39.251 10.48.71.21 UDP 178 | 9999 = 2003 Len=136
17 | 14.996368 10.48.39.251 10.48.71.21 UDP 162 | 9999 = 2003 Len=120
18 | 17.994857 10.48.39.251 10.48.71.21 UDP 146 | 9999 = 2003 Len=104
19 | 17.996231 10.48.39.251 10.48.71.21 UDP 162 | 9999 => 2003 Len=120
20 | 18.102843 10.48.39.251 10.48.71.21 UDP 130 | 9999 = 2003 Len=88
21 | 21.098408 10.48.39.251 10.48.71.21 UDP 146 | 9999 = 2003 Len=104
22 | 21.099952 10.48.39.251 10.48.71.21 UDP 162 | 9999 = 2003 Len=120
23 | 24.098574 10.48.39.251 10.48.71.21 UDP 146 | 9999 => 2003 Len=104
24 | 24.099804 10.48.39.251 10.48.71.21 UDP 162 | 9999 = 2003 Len=120
25 | 27.098099 10.48.39.251 10.48.71.21 UDP 162 | 9999 = 2003 Len=120
26 | 27.099839 10.48.39.251 10.48.71.21 UDP 130 | 9999 => 2003 Len=88
27 | 28.880307 10.48.39.164 10.48.71.21 UDP 146 | 9999 = 2003 Len=104
28 | 28.881569 10.48.39.214 10.48.71.21 CAPP 146 | CAPP MDS5 Encrypted
29 | 30.094237 10.48.39.251 10.48.71.21 UDP 178 | 9999 = 2003 Len=136
30 | 30.097812 10.48.39.251 10.48.71.21 UDP 146 | 9999 = 2003 Len=104
31 | 30.513451 10.48.39.214 10.48.71.21 UDP 130 | 9999 - 2003 Len=88
32| 30.515926 10.48.39.164 10.48.71.21 UDP 130 | 9999 = 2003 Len=88

> Frame 1. 162 bytes on wire (1296 bits), 162 bytes captured (1296 bits)

> Ethernet ll, Src: Ciscolnc_2a:c4:a3 (00:06:f6:2a:c4:a3), Dst: Vmware_99:4e:19 (00:50:56:99:4e:19)
> Internet Protocol Version 4, Src: 10.48.39.251, Dst. 10.48.71.21

> User Datagram Protocol, Src Port: 9999 (9999), Dst Port: 2003 (2003)

v Data (120 bytes)
Data:ae 2f44f0 00 00 b4 5fef 06 fd cb b7 6c 03 cT7 ...

[Length: 120]

The image shows a packet capture that was taken at the CLI of the Cisco CMX server. It shows UDP traffic from the WLC coming into the server. What does the

capture prove?

A. The Cisco CMX server receives NetFlow data from the WLC.
B. The Cisco CMX server receives NMSP traffic from the WLC.
C. The Cisco CMX server receives SNMP traffic from the WLC.

D. The Cisco CMX server receives Angle-of-Arrival data from the WLC.

Answer: D

NEW QUESTION 19

CMX Facebook Wi-Fi allows access to the network before authentication. Which two elements are available? (Choose two.)

A. Allow HTTP traffic only before authentication and block all the traffic.
B. Allow all the traffic before authentication and intercept HTTPS only.

C. Allow HTTPs traffic only before authentication and block all other traffic.

D. Allow all the traffic before authentication and intercept HTTP only.
E. Allow SNMP traffic only before authentication and block all the traffic.

Answer: CD

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/wireless/mse/8-0/CMX_Connect_Engage_Visitor_Connect/Guide/Cisco_CMX_Connect_Engage_Config_Guide
_VC/CMX_Facebook_Wi-Fi.html

NEW QUESTION 24

An engineer is implementing Cisco Identity-Based Networking on a Cisco AireOS controller. The engineer has two ACLs on the controller. The first ACL, named
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BASE_ACL, is applied to the corporate_clients interface on the WLC, which is used for all corporate clients. The second ACL, named HR_ACL, is referenced by
ISE in the Human Resources group policy. What is the resulting ACL when a Human Resources user connects?

A. HR_ACL appended with BASE_ACL
B. HR_ACL only

C. BASE_ACL appended with HR_ACL
D. BASE_ACL only

Answer: B
NEW QUESTION 27

A FlexConnect remote office deployment is using five 2702i APs indoors and two 1532i APs outdoors. When a code upgrade is performed and FlexConnect Smart
AP Image Upgrade is leveraged, but no FlexConnect Master AP has been configured, how many image transfers between the WLC and APs will occur?

oow»
~ o N R

Answer: B

NEW QUESTION 28
Refer to the exhibit. An engineer is creating an ACL to restrict some traffic to the WLC CPU. Which selection must be made from the direction drop-down list?

Access Control Lists > Rules > New
Sequence | |
Source | Any -|
Destination |Any -|
Protocol |Any -
DSCP
Direction
Action

A. It must be Inbound because traffic goes to the WLC.

B. Packet direction has no significance; it is always Any.

C. It must be Outbound because it is traffic that is generated from the WLC.

D. To have the complete list of options, the CPU ACL must be created only by the CLI.

Answer: A

NEW QUESTION 30
Which two protocols are used to communicate between the Cisco MSE and the Cisco Prime Infrastructure network management software? (Choose two.)

A. HTTPS
B. Telnet
C. SOAP
D. SSH
E. NMSP

Answer: AE

NEW QUESTION 31

An engineer configured a Cisco AireOS controller with two TACACS+ servers. The engineer notices that when the primary TACACS+ server fails, the WLC starts
using the secondary server as expected, but the WLC does not use the primary server again until the secondary server fails or the controller is rebooted. Which
cause of this issue is true?

A. Fallback is enabled
B. Fallback is disabled
C. DNS query is disabled
D. DNS query is enabled

Answer: B

NEW QUESTION 34
A Cisco WLC has been added to the network and Cisco ISE as a network device, but authentication is failing. Which configuration within the network device
configuration should be verified?
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A. SNMP RO community

B. device interface credentials
C. device ID

D. shared secret

Answer: D

NEW QUESTION 38

Which statement about the VideoStream/Multicast Direct feature is true?

A. IP multicast traffic is reliable over WLAN by default as defined by the IEEE 802.11 wireless multicast delivery mechanism.
B. Each VideoStream client acknowledges receiving a video IP multicast stream.

C. It converts the unicast frame to a multicast frame over the air.

D. It makes the delivery of the IP multicast stream less reliable over the air, but reliable over Ethernet.

Answer:. B

Explanation:

Reference: https://www.cisco.com/c/en/us/td/docs/wireless/controller/8-1/configuration-guide/b_cg81/multicast_broadcast_setup.html

NEW QUESTION 41
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